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Add More Than 4-Digits

Add More Than 4-Digits

9. Use the place value counters fo add
the numbers below.

9b. Use the place value counters o add
the numbers below.
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10a. True or false?

59,276 + 8,095 + 67,488 = 136,859

h%4

10b. True orfalse?

7,738 + 90,843 + 54,137 = 152,918

#

11a. Complete the bar models below.

11b. Complete the bar models below.

A ? A ?

83373 [3294] 16,345 9,588 | 40,827 | 73239
B 32,507 28,596 |4384| |B.| 72485 |8596| 69,609
hE( ? b ?

12a. Solve the addifion calculafions
below.

1)8,008 +41.299 =

iy 6 9 0 8 4

12b. Solve the addifion calculafions
below.

1) 36,783+4,035 +16,808 =

i 7.9 9 7 9
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7a.Sandy and Gabby are comparing
their income.

7b. Mike and Danny are comparing their
income.

T o
o o o e |t
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O s oz || 5[ s
you e £6.738 more than you.

Sandy

Although my bonus was high, you
still o £248 more than me
altogether.

Gabby

U

Who is correct? Explainwhy.

Danny
Who is correct? Explain why.

8a. Add the missing place value counters
to make this addifion correct.

05 s

10,0005 1,000s 1005

8b. Add the missing place value counters

to make this addifion correct.
10,0005 1.000s 1005

05 s

2 0 1 5 7 4

9. Steve completes this sum incomectly.

63,218 +4,289 +34,703=102,110

Explain the mistake he hasmade

b2

9b. Giselle completes this sum incorrectly.

20,383 +95,347=115,830

Explain the mistake she hasmade

D¢
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Greater Depth
9a.114,586 + 52,609 = 167,195

10a. False as 59,276 + 8,095 + 67,488 =
134,859.

11a.A=103012 B
12a.1) 49,307 il) 77,071

5,487

Greater Depth
9b. 87,280 + 54,226 = 141,506

10b. False as 7,738 + 90,843 + 54,137 =
152,718,

11b.A = 123,654 B = 150,690
12b.1) 67,626 if) 130,857
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7a. Gabby s comect because her fotal 7b. Mike is comect because £65,363 +
was £78,357. Sandy's income was £78,605  £6738 = £72,101 whichis Mike's fofal

‘which s £248 higher than Gabby's. income. Danny's income was £65,363.
8a. Various answers, for example: 8b. Various answers, for example:

2 0 1.5 7 4 1735 5 8

9. Steve's answer should be 102.210. He  9b. Giselle's answer should be 115,730. In
has added the digits in the hundreds the hundreds column, she has exchanged

column up incorrecty. twenty fens (200) instead of fen ens (100).
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7738 0,843 84137 = 152918




